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[rferfEa [T #1 STaqae 9ieu 3k ITHT 9T BTy :

() 39 397-97 4 33 397 3 | @4t 397 SrfAard & |

(i) I8 Jo7-97 Gie @S] 4 [Fdy7fsiq 8- @e &, &, T, 409 & /

(iii) WYE & F97 &I 1 & 16 7% FgldHcdT FHR & o7 & | J&ie 597 1 3% &7
g1

(iv) UE @ - J57 G&I7 17 & 21 7% 3717 TG-FT1T JHR & 97 & | JA% 97 2 371
HE

() &V M- J97 G722 & 28 7% TTY-FTHIT FHR & 97 & | T4 F97 3 37H] FT & |
(i) IS T— Y97 &I 29 TIT 30 FG-3TNRT J97 & | Jcdh J97 4 37h] HT & |
(vii) WIZTF— 97 G&I1 31 T 33 TNH-FT1T JHR & Jo7 8 | I4F 945 3B 15 |

(viii) J¥T-97 7 GHT [AHeq 71 97 797 & | JEf, @vs & & IaikE 377 T @vsl &
FO FH 7 STaRkew 1aeheq HT 77 1597 T 8 |

(ix) &7 § 1 gieanaa Fenal & o7g ST J97-97 & |
(x)  Fogpeict BT ITFIT qledd 3 |

Evusg <h

¥o7 G&IT 1 & 16 T%F Tglashedid J#R & 1 3% & J97 & | 16 x1=16

1. HshHUl dwl sl 3d Al H Sl g8 SATrEIhReh &HdT 1 Hal 3hH B :
(A)  MnOj < Cr,05~ < VO,
(B) Cr,0” < VO3 < MnOj
(C)  VOg < Cr,02” < MnOj
(D)  VOj < MnOj < Cr,05~

2.  GHdA [CoCly(en)s]t GHI TG THTIISAT ST TR 7 :
(A) S ggEIEa
(B) SN SHTE™Ed]
(C) SUHEHANH FHTEIEdl
(D) AT EHTEIET
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AT

General Instructions :

Read the following instructions carefully and follow them :

(1)
(it)
(iti)
(iv)
(v)
(vi)
(vit)
(viii)
(ix)

(x)

This question paper contains 33 questions. All questions are compulsory.

This question paper is divided into five sections — Section A, B, C, D and E.
Section A — questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

Section B - questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

Section C - questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks.

Section E — questions number 31 to 33 are long answer type questions. Each
question carries 8§ marks.

There is no overall choice given in the question paper. However, an internal
choice has been provided in few questions in all the sections except Section A.
Kindly note that there is a separate question paper for Visually Impaired
candidates.

Use of calculators is not allowed.

SECTION A

Questions no. 1 to 16 are Multiple Choice type Questions, carrying 1 mark

each.

1.

16x1=16

The correct order for the increasing oxidizing power in 3d series of
transition elements is :

(A)  MnOj < Cr,07~ < VO
(B) Cr,02” < VOj < MnOj
(C) VOg < Cr,02”< MnOj
(D) VO3 < MnOj < Cr,05~
The type of isomerism shown by the complex [CoCly(en)y] ™ is :

(A) Linkage isomerism
(B) Geometrical isomerism
(C) Coordination isomerism

(D) Ionization isomerism

56/2/3-12 3 VWMWY P.T.O.



(A sp’d
(B) sp’
(©)  sp°d?
D) d*sp?

frfcTRad o ¥ Tore T ohtch SYHISLEA ToRI=d foRaT ST Thdl § 2

(A) KCN & @Y NfYaT Feiiiss
(B) KCN o 91 e FIEe
(C) KCN % #19 NfUet Ueehlaiel
(D) KCN % 91 Ffed Veshlara

fefafiga O @ ia-51 gaifies AT 8 2

OH CH,OH
(A) @ (B) @

OH OH

e

HI < |19 37sRaT T (CHg)y CH - O — CH, &l 8 ¢
(A) (CHy),CH-OH + CH; — OH

(B) (CH3),CH-OH + CH; -1

(C) (CHy),CH-I+CHz-OH

(D) (CHy),CH-I+CHz-1

NO,



&

Which one of the following hybrid states is associated with low spin

complex ?
(A sp’d
(B) sp’
©) spid?
D) d? sp3

Butanenitrile may be prepared by heating :
(A)  propyl chloride with KCN

(B)  butyl chloride with KCN

(C)  propyl alcohol with KCN

(D)  butyl alcohol with KCN

Which of the following is most acidic ?

OH CH,OH
(A) @ (B) @
OH OH

(©) (5 (D)

(CHjy)y; CH — O — CHg reacts with HI to give :

NO,

(A)  (CHy),CH - OH + CH, — OH

() (CHg,CH-1I +CH;—- OH

(

(B) (CH3),CH-OH + CH; -1
(

D) (

CH3),CH -1 + CHg -1

P.T.O.



10.

CyHgO 31fuses &3 & s (X) ol fopdl gek AMfites (V) H Seal ATareliento
HHh GNI 3TTaIehd foRaT ST Tkl &, &1 3Tfversh ¥ CoHgO, 8 | AR
X)®:

(A) CH3-CH,-0-CHgq

(B) CHg-CH - CH,

|
OH

(C) CHy-CH,- CH, - OH

(D) 39 H A HiE T

10 mL UHEH &I 50 mL FARBH & 919 Ham | Iy &1 $a

B

(A) <60mL
(B) > 60 mL
(C) =60mL
(D) =100mL
(A) ohm em !
(B) ohm™!
(C) cm™?

(D) ohm_1 cm2 mol_1

ferett atfufshen R —— 3Ic91e & fIT, log [R] T @9 & Ued UTH Wied W Th
I [ET UTed Bidl g Sreehl @t — 1.25 51 3 | 31fyfshan <l «hife B

(A) Uk

B) YA
€
(D) Ta=TcHes



10.

A compound (X) with the molecular formula C3HgO can be oxidized by
strong oxidizing agents to another compound (Y) whose molecular

formula is CgHgO,. The compound (X) is :
(A) CH3-CH,;-0-CH,q

(B) CH;-CH - CH,

|
OH

(C) CH3-CH,-CH,-OH
(D) None of the above

On mixing 10 mL of acetone with 50 mL of chloroform, the total volume

of the solution will be :

(A) <60mL
(B) >60mL
(C) =60mL
(D) =100 mL

The unit of cell constant is :
(A) ohmem™

(B) ohm™

(C) cm™

(D) ohm_1 cm2 mol_1

For a certain reaction R —— products, a plot of log [R] vs. time gives a

straight line with a slope of — 1:25 s™1 . The order of the reaction is :
(A) One

(B)  Zero

(C) Two

(D)  Fractional

56/2/3-12 7 VWMWY P.T.O.



12.

forell S Ife Afufshar A —— I o T ty,0 2

[A], 2-303 log 2
(A) 'S (B) .
1 [Aly

&l [Al = SATUSRS il IR Argar, k = a7 fOmH

fore) sramsusiial faei & Sy fae= o a9 @« 1 3ufeer 3ead 0-0225
2 | rarsysiiel foed st HIdA-3791 @ -

(A) 0-80
(B) 0725
(C) 015
(D)  0-0225

97 G&IT 13 @ 16 & 70, 31 %97 130 70 § — 574 v &1 997 (A) T9IT
g &1 FRUT (R) gRT 3ifeba a7 747 & | 37 9971 & @g1 I 714 3¢ 77 @ist
(A), (B), (C) 3717 (D) & @ g7 ey |

(A)  3fiRYH (A) 3R +IU (R) gFT T&l 8 3R &Rl (R), 31fihed (A) i
g AT AT 2 |

(B) AR (A) 3T SR (R) THI T&l &, Tq BRI (R), 3MMheH (A) Hl
gl AT &l T 7 |

(C)  AfYHA (A) HEI 8, T RN (R) TAd 7 |

(D)  3fieher (A) Treld B, 9% SROT (R) & 2 |



11.  For a zero order reaction A —— products, ty/ is:

[A], 2-303 log 2
(A) S (B) T
1 [Aly

where [A]j = initial concentration of the reactant, k = rate constant.

12. The relative lowering of vapour pressure of an aqueous solution
containing non-volatile solute is 0-0225. The mole fraction of the

non-volatile solute is :

(A) 0-80
(B) 0725
(C) 015
(D) 0-0225

For Questions number 13 to 16, two statements are given — one labelled
as Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given

below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

56/2/3-12 9 VWMWY P.T.O.



13. Y%7 (A): EaaReaaudH () — NH,)) i ot § U goa ar g |

PR (R): U IS Torf B |
14. 37997 (A) : Taefim ¢ gun s A dfeq 7€ e s gepar 2 |
PRU(R):  THRIHE C a1 ¥ Tooid g 3R Ig @ ¥ T o |1l Icarid

HE IR

15. 379%97 (A) : Ulcohdd ZATSSI ol UHIHI-3TTHET Ufoshd @SS o ©1Y STHIT

% WIHTTeTen faemm s s1fifshan gy g 2 |

FRU(R):  Ufchd qABEl ol UHMI-TIIEA J&IA: fgdiFeh UHM 3Icdrfed

HLT 2 |

16.  379%97 (A) : Ul Wiga-spreen rfufshan @ 78 Torar 2 |
FRU(R):  Shiea-shTeed 3ffshan weh Tfdyemrft gfaeemus srfufshan 2 |

17. (h)
(@)
18. ()
(@)
56/2/3-12

Qs @

Afiepl o ffifgd g 4 € a1 Aifes oAb digar § Syl
sAfufshan M 3R =T ?

e o gea 3aarg fafau -

Cl
(i) NaOH, 443K
(ii) H o
NO, 2x1=2
AATIE STMHeA F1 & ? A-AA1IS HHad hl ol H Th ded 8 g
awd o o9 Ufearag e 2afersh giar 8 | =i 2 1+1=2
rerat
ShAUT GTqY HUH T o I AH R guiidl 8 ? 3d-3vf 4 fovm o
i HUH T q9Y HH B ? 1+1=2

10




14.

15.

16.

17.

18.

Assertion (A) : Aniline is a weaker base than cyclohexylamine ( C} — NH,).

Reason (R): Aniline is resonance stabilized.

Assertion (A) : Vitamin C cannot be stored in our body.

Reason (R):  Vitamin C is water soluble and readily excreted in urine.

Assertion (A) : Ammonolysis of alkyl halides involves reaction between
alkyl halide and ethanolic solution of ammonia.

Reason (R): Ammonolysis of alkyl halides mainly produces secondary

amines.

Assertion (A) : Aniline does not undergo Friedel-Crafts reaction.

Reason (R):  Friedel-Crafts reaction is a nucleophilic substitution

reaction.

SECTION B

(a)  Which one of the following pairs of substances undergoes Syl
reaction faster and why ?

(b)  Write the major product in the following :
Cl

(i) NaOH, 443 K _

/s
(i) H*

NO, 2x1=2

(a) What is lanthanoid contraction ? Actinoid contraction is greater
from element to element than lanthanoid contraction. Why ? 1+1=2

OR

(b) Why do transition metals have high enthalpy of atomization ?
Which element of 3d-series has lowest enthalpy of atomization ? 1+1=2

56/2/3-12 11 VAWMV P.T.O.



20.

21.

22,

23.

Fratataa gei =1 afenfya $ife - 2x1=2
(%) UwES 9y
(@) STEvges WAl 3

forelt worm ehife <t a1ffRam o1 o feories 1-25x 1072 s L @ | 39 =1firerHs® &
5g %l 2:5g U g U fehaat a0 o ? 2

[log 2 = 0-301, log 3 = 0-4771, log 4 = 0-6021 |

I (IR geddM = 180 g mol 1) 1 3% faetem fopet ommtra hreifes e
% 2:5% Toe=H o 1Y IUIEN 7 | 3T e 4G 1 3 WR qRehicTd
it | 2

Qus

Fr=faRga & fomm & fou sifufspanett & arfieor A (618 717) 3x1=3
F) FARSE 8 BHEA

) UHE § 2-HATRUE IR

(
(@) e o dfafesass
(
(

¥) HHAE o fufshs o1

fefefaa & fore swror difse 3x1=3

(%) FARE TaU FOFH 9Ih g & TR i I8 TUAfeH soreeiwnt
gfaeenmum stffsranett # 21fet /90 ey 2 |

(@) 3l fasor gaor sreols & 3 |

(M) - FAUse i e e FdEe e 3w 8 Sa-sEted 8
ISR




20.

21.

22.

23.

Define the following terms : 2x1=2
(a)  Peptide linkage

(b) Essential amino acids

A first order reaction has a rate constant 1-25 x 10~ s™1. How long will
5 g of this reactant take to reduce to 2-5 g ? 2

[log 2 = 0-301, log 3 = 0-4771, log 4 = 0-6021 ]

A 3% solution of glucose (molar mass = 180 g mol™Y) is isotonic with 2-5%

solution of an unknown organic substance. Calculate the molecular

weight of the unknown organic substance. 2
SECTION C
Give the equations of reactions for the preparation of : (any three) 3x1=3

(a) Phenol from chlorobenzene
(b) Salicylaldehyde from phenol
(c) 2-Methoxyacetophenone from anisole

(d) Picric acid from phenol

Give reasons for the following : 3x1=3

(a) Chlorine 1is ortho/para directing in electrophilic aromatic

substitution reactions, though chlorine is an electron withdrawing

group.
(b) Racemic mixture is optically inactive.

(c)  Allyl chloride is hydrolysed more readily than n-propyl chloride.

56/2/3-12 13 VAWMV P.T.O.



25.

26.

27.

283 K W foreft faames &1 a7 @ 100 mm Hg & | 39 a7 oo™ @1 ars
g1e gitehford <hifere o 283 K W fopelt yoat fofa-oaeed AB &1 1 Hid
ok % 50 Wi | g @ (I8 A SANIT Toh T AB quid: T &1 siman
2) | 3

qE H 17°C | 27°C Toh Jhg 1 W fopell N 1ffshan &1 o1 @4 71 &1
7T 7 | 39 AMUshAT o Tou Gfshaor it 1 gitehed hIfST | 3
[fean T 2 : 2.303 R = 19-15 JK " mol L, log 3 =048 ]

frfeiiga o< =1 fa.ar. 916 (emf) Tfepfera ShifSe 3
Zn (s) | Zn%* (0-1 M) || Sn2* (0-001 M) | Sn (s)

f@ ™2 E) 94/ =—076V, Egorg =-014V

[log 10 = 1]
frfafaa st § A, B 3R C i gt fafaw . 2><1é=3
(%) CHz— CHy—Br —SCN o ng_m ,p_ NaOH+Br, .
NO,
(@) @ Fe +HCl , » NaNO, + HCl . B C,H-OH . o

273-278K



25.

26.

27.

The vapour pressure of a solvent at 283 K is 100 mm Hg. Calculate the
vapour pressure of a dilute solution containing 1 mole of a strong
electrolyte AB in 50 moles of the solvent at 283 K (assuming complete

dissociation of solute AB). 3

The rate of a gaseous reaction triples when temperature is increased
from 17°C to 27°C. Calculate the energy of activation for this reaction. 3
[Given : 2-303 R = 19-15 JK "L mol %, log 3 = 0-48]

Calculate emf of the following cell : 3
Zn (s) | Zn2* (0-1 M) || Sn2* (0-:001 M) | Sn (s)

Given: Ej 9:/p =—076V, Eg o1/ =—014V

[ log 10 = 1]
Write the structures of A, B and C in the following reactions : 2x1 é =3
(a)  CHg—CHy—Br = A Partialol:}If:lrolysi3> B e > C
NO,
b) @ Fe + HC1 S A NaNO, + HCl . B C,H-OH . o

273-278K
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28. fr=fafiga 9 "ag srfufsean fafgu 3x1=3

(%) dieh-ThyR M=
(@) foemaifeaem Tl
() i frfsran

Qs v

HET1CTRGT 97 HG-TERT 97 & | G H TTGEF 96T 3K 15T 7T 71 & Fo FT |

29. FEigEge el 3 TRN 1 § Sfiad & folu srawess ga & | dul #§
1 Tg 3N TR o rEhisH % w9 § wEiEEee GUY AUST 1 wifd SgEd
B 2 | THEAe &9 ¥ ¥ Uifclesgiad Ufcessg el hidH Bd B |
FEEES hl TA-INTIH T IToh FGER o AER W HHAREE,
HATMHRUSS R ATAHRUES H aFfiehd Tohdl T 7 | At AHRUSS IR
IRl BT &, 31T I i TR qol hiow faem o stiaeihd &l 9 & |
ThIE AT HIIARISE Ueeladalsl BldT 8 37 SEehT A0 o CgHy90g T
T | e srfiresdent 8 HI, HyN — OH, SiHiH id, (CH3C0)50 3ca1ie %
T JAATRAT ek $Heh! T H Toh Ufcsgise THg, T WTTHeh Uchigiicieh
T8 (- CH,OH) 3R =R fgdreh Ueehigicis @98 ( >CHOH) dT 7T |
ufeeatse g 3UMEd Bid 3¢ i ke Ufeeaise g i o AWBRIT SE
3 adieror, NaHSO3 AT 781 odl & | I8 Tohi o Gl =shid gHItHISA &9
% ITfedcd Sl FHIAT & SFH TH=TdT shad C — 1 W 3T gEgiadd 9g

fomma d Bt 2 1
56/2/3-12 16




28. Write the reaction involved in the following : 3x1=3
(a)  Wolff-Kishner reduction
(b)  Decarboxylation reaction

(¢) Cannizzaro reaction

SECTION D

The following questions are case-based questions. Read the case carefully and

answer the questions that follow.

29. Carbohydrates are essential for life in both plants and animals.
Carbohydrates are used as storage molecules as starch in plants and
glycogen in animals. Chemically they are polyhydroxy aldehydes or
ketones. On the basis of their behaviour on hydrolysis, carbohydrates are
classified as monosaccharides, oligosaccharides and polysaccharides. All
monosaccharides are reducing sugars, i.e., they are oxidized by Tollens’
reagent and Fehling’s solution. A monosaccharide like glucose is
aldohexose and its molecular formula was found to be CgH1904. After
reacting with different reagents like HI, HoN — OH, Bromine water,
(CH3CO)90, etc. its structure was found to contain one aldehyde group,
one primary alcoholic group, (- CH,OH) and four secondary alcoholic
groups ( > CHOH). Despite having the aldehyde group, glucose does not
give some of the reactions of aldehyde group like Schiff’s test, NaHSOg4
addition. This explains the existence of glucose in two cyclic hemiacetal
forms which differ only in the configuration of the hydroxyl group at
C-1.

56/2/3-12 17 VAWMV P.T.O.



(%) TR IERT FAT B & ? 7

(@) fmAfcIRaa sl AFHUsS TR S3dHhUsS H aifiehd hiT

A, hid, aed, Toiadd 1

() 3| UifcTdehse &l A saEe o oft e w8 S @ | 38 ot

¥ Il had @ ? 2

AT

(M) () M % 3 GUEIAl o AW FA1ST o @shid €9 H C — 1 T
— OH 9wg o fo=ma & fi=an gt 7 |

(i) TRE I Bry A o WY AAGRAT fohd ThEIcHS® THE hi
Iuferta 1 gy et g ? 2x1=2

30. THAY UGS b Il W] el RE W d-herh 319U Bid & |
TS | IR R d-hefehi i IUTEATd TshHUT Teal ol STHHA Tl o
T L el & | AT €9 U ARG d-HeTehi o HRUT A T S AT
0T TR @, 9 3Teh STTFEHIhLUT HTEYTT, T AT T FT qAT b ThK
% ferreel o @ Ggpet Fmior anfe | opmur arqd qen sk AR SR O |
IITEhT FaER Ht R & | ThAU 91qe Afd HoR qAT 3Tcd A=A Bt
&1 F B, A bl S gl wgf g @ -

M2t/




30.

56/2/3-12 19 VAWMV P.T.O.

Answer the following questions :
(a) What are reducing sugars ?

(b) Classify the following into monosaccharide and disaccharide :

Fructose, Sucrose, Lactose, Galactose

(c) Name the polysaccharide which is known as ‘animal starch’. Why is

it called ‘animal starch’ ?

OR

(c) (1) Name the isomers of glucose which in the cyclic form differ

only in the configuration of the — OH group at C — 1.

(ii) Presence of which functional group was detected when

glucose reacted with Bry water ? 2x1=2

Transition metals have incomplete d-subshell either in neutral atom or in
their ions. The presence of partly filled d-orbitals in their atoms makes
transition elements different from that of the non-transition elements.
With partly filled d-orbitals, these elements exhibit certain characteristic
properties such as display of a variety of oxidation states, formation of
coloured ions and entering into complex formation with a variety of
ligands. The transition metals and their compounds also exhibit catalytic
properties and paramagnetic behaviour. The transition metals are very
hard and have low volatility. An examination of the El(\)/lz I values

shows the varying trends :



0
EM2+/M
\% ~118
Cr ~ 091
Mn —-1-18
Fe —0-44
Co ~0-28
Ni ~0-25
Cu +0-34
Zn ~0-76
freferfad gt o I G
(%) TorE STTUR W 39 g Tehd 3 T Cu Tsh HshAY T & oifehd Zn &l ?
(9] pHT : Cu = 29, Zn = 30) 1
(@) wshHY ded STTeriTehtuT sraeersti | fafaear =i goiid 2 2 1

56/2/3-12

1)

(i1)

1)

(i)

#ifem 3 fim a5 B, % wm sfwEfe s @ gl

3 ?

T g § SR ST B REde s T

i giEa-Tar 9 fopd YR 19— Bt 3 2 2x1=2
HAAT

o NN

Cr?* Yoo U= § Seieh MnS* gadd tieeiehien, Sefeh al
& q* wfivhs &, == 2

(9THTY] 3pHT : Cr = 24, Mn = 25)

= smmafes ateRto qut i

2MnO, + H)O+1™ —— 2x1=2

20 VWAWVWWAWWWAWVAVVIWANIVNY



E§42+/M
A% -1-18
Cr -091
Mn -1-18
Fe -0-44
Co —-0-28
Ni —-0-25
Cu +0-34
Zn -0-76

Answer the following questions :

(a)

(b)

(c)

(c)

56/2/3-12

On what basis can we say that Cu is a transition element but Zn is

not ? (Atomic number : Cu =29, Zn = 30)

Why do transition elements show variety of oxidation states ?

(i) Why do EK/{2 I values show irregular trend from Vanadium

to Zinc ?

(i1)) How is the variability in oxidation states of transition metals

different from that of the non-transition elements ?

OR

2x1=2

i) Of the d* species, Cr?* is strongly reducing while Mn®* is

strongly oxidizing. Why ? (Atomic number : Cr = 24, Mn = 25)

(ii) Complete the following ionic equation :

9MnO, +HyO +1~ —

21

2x1=2

P.T.O.



Qs &

31. (&) () Tr=fiRaa & wro e

o N\ N

(1)  hICHI T T § UfceaIgel o1 AT M Bial & |

(2) UfceaEEl % UeHl (o) BTESISH WA i Thid Tt

Bl g |
Gi) Fr=fafea srfufsranst & 3Icae fafge .
COCH,
@ NaOH /I,
(D) > 7 4+ ?
COCl

(2) @ + (CHg)yCd — ? + CdCl,,
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SECTION E

31. (a) (1) Account for the following :

(1) Oxidation of aldehydes is easier as compared to

ketones.

(2)  The alpha (o) hydrogen atoms of aldehydes are acidic

1n nature.

(i1)  Write the products in the following reactions :

COCH,

NaOH /I,
(1) >? 4+ 9

COCl

(2) @ + (CHg)yCd — ? + CdCl,

(iii) Give a simple chemical test to distinguish between ethanoic
acid and ethanal. 242+1=5

OR

(b) () Draw structure of the 2,4-dinitrophenylhydrazone of
benzaldehyde.

(ii))  Arrange the following in increasing order of their reactivity
towards HCN :
CH3COCH3 (CHj3)3C — COCH3 , CH3CHO

(iii) How can you convert phenyl magnesium bromide to benzoic

acid ?
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56/2/3-12

Give a simple chemical test to distinguish between

benzaldehyde and ethanal.

Write the main product in the following reaction :

(i) NaBH,
Il (1) H
0) 5x1=5

The resistance of 0-05 M CH3COOH solution is found to be

100 ohm. If the cell constant is 0-0354 cm_l, calculate the

molar conductivity of the acetic acid solution.

State Faraday’s first law of electrolysis. How much charge in

Faraday is required for the reduction of 1 mol of MnO, to

Mn2*t ? 2+3=5

OR

The conductivity of 0-0025 mol L7 acetic acid is

5.25 x 10 S em™L. Calculate its degree of dissociation if A(I)I1

2

for acetic acid is 390 S cm mol_l.

Write anode, cathode and overall reaction of lead storage

battery. 3+2=5
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33. Answer any five of the following :

(a)

(b)

(c)

(d)

(e)

()

(g)

56/2/3-12

How is the crystal field splitting energy for octahedral complex (A,)

related to that of tetrahedral complex(A¢) ?

Write the IUPAC name of the following complex :
[PtClz(eIl)2] (NO3)2

Write the geometry and magnetic behaviour of the complex

[Ni(CO)4] on the basis of Valency Bond Theory (VBT).

What type of isomerism is shown by the complex

[Co(NHj)g] [Cr(CN)g] ?

For the coordination compound on the basis of crystal field theory,
write the electronic configuration for d* ion if A, < P. Is the

coordination compound a high spin or low spin complex ?

Out of [Co(NH3)gl®" and [Co(NHj3),Cly]*, which complex is

heteroleptic and why ?

Draw the structures of optical isomers of [PtCl2(en)2]2+.
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